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Multiple Choice Questions §I9 th 9
Show all your work on the page where the question appears. ,9 O I 3

Clearly mark your answer both on the cover page on this exam .

and in the corresponding questions that follow. g
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1. Suppose f(z) = xi—|—6 Find the value of A, given that
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Determine the slope of the tangent to the graph of y = f(z) atz = 3.
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3. Find f'(z) where — {//%
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4. Suppose F(z) = L (? £(3) =10, 9(3) = 3, f/(3) = 3, ¢'(3) = 10. Find F'(3).
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5. Determine H'(2), provided that H(t) = (t* + 3t — 1)(t* — 3).
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6. Find the derivative, f’(3), where
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7. Suppose F(G(z)) = z* and G'(2) = 3. Determine F'(G(2)). g n Rulo
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8. The tangent line to y = f(z) at z = 5 is given by
y = —8(z — 5) + 11.

Determine the f(5) + f'(5). (Hint: use the tangent line to determine each of f(5) and f'(5). Then
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9. Find the fourth derivative, f (¥)(z), where
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10. Find the derivative, f'(t), where
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11. Find the derivative, f‘(x), where
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12. Find the derivative, f'(38), where
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13. Find the 12th derivative, f(!%(z), where
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14. How much money must be invested now in order to have $5000 in 6 years, assuming interest is
compounded continuously at an annual rate of 7.5 % ?
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15. The population of a certain country doubles every 21 years. If we express the population as

P(t) = Pye™®, then find 7.
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16. Find the maximum value of f(z) o here f(z) = 2z® — 32 — 12z.
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18. According to the Extreme Value Theorem, which of the functions are guaranteed to attain a max-
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19. Let f(z) =2?+9.Find avalue ¢ betweenz =4and z =8 so that the average rate
of change of f(z) from z =4 to z =8 is equal to the instantaneous rate of change of
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20. Suppose g(z) = 2z® and the tangent line t¢’y = f( )w y —m
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Determine the slope of tangent lineto y = f atz =2
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